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E_BHIM SNE (558)
ARRLF 2S5 —D3B (138)
NE{z K 2 OUT | IN |GROSS|HDCP| NET
1 ZH W= 39 36 75 o’ 68
2 PuiE fi2 39 40 79 11 68
3 BE Bk 42 39 81 10 71
4 ik FoiE 41 41 82 11 71
5 X% =i 42 40 82 11 71
BG ZH W= 39 36 75
B#kL F+2S5—DE0 (25%)
NE{Tz K 2 OUT | IN |GROSS|HDCP| NET
1 XE R— 42 42 84 14 70
2 = AN 44 45 89 19 70
3 @B 188 45 44 89 17 72
4 B%F X 42 50 92 18 74
5 = &7 45 49 94 20 74
BG XKiEg R— 42 42 84
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TSVEIZP « LT 1 —ADEB 178)
g {iz K 2 OUT | IN |[GROSS|HDCP| NET
1 BK 28X 40 42 82 24 58
2 MR FM— 39 42 81 16 65
3 R YRR 48 43 91 23 68
4 PIZR  fl— 40 36 76 7 69
5 qiE 1Es 47 43 90 20 70
BG SE S 40 36 76
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